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SRTIT YT J1TART 1°IT DIWA DINYT? V2T A7 12 W KPY,1ID2 ROW MITY MOT W 2" von
.....Wnn 02 NYTY 1D 17 %

TYITRPA 1" 77T R .MOT 2" TOW 1R SY2 MW 1R PROXINY 8T ART 0010 W IR
2N2Y AR XN RAW J1OWOAT ORNAKR 7222 907 AR NYTHY ROW IWIPNIW 730PT X002 1" a7
X171 QTR 22w DR DYV Y1907 PRITR PO RTW 11 2" PYITR 2T M7 w9 aw 1"n
177 K? %01 KD R VARWWD ART I8INIT RAVY 1121 17192 KOW 17211 R V0¥ RONIT T8 102 ROW?
NIDTT RNYIR 92 AXINIW 93 DR ,0°727 7107 MW NRYY K37 577 N3 MOT IR 97 PUITp
ANE2 DAR ,INON MR? MW O"YR YR DYWA pRW KPIT 1Y, INWRD VWR 230 17 R
MW YONT DR PROXIDY 712 ART X2702 °07.9"0Y 2"Y2 0IRY 137 PRW VX T PR RIP°Yn
X71,2192 ROW 1217 2 1172 M1 2 3 1"0¥ L0727 71072 1MW aRYY X7 0w 110 ow 2"'wnd)
MY P17 PRT M 1212 YW NP2 INX ORT MIT 732 9P 19 KT 2R 0w 7O0%T
I ATV R D RMIT 2770 1IN N2 XOWAD ART 7Y RAT 718N 1" 2007 107 772 7" 1990...0"va
X7 WI7°02 18N )17 YAWIW N2 PINww 177 092 197,597 011 KD VW DY MR aRT Mot 9
2 91 727 ARONW AR 30 OYIRY NDYWA pRWw ORT QW X077 177 2"wnd) pRw OR CA0 IR 11°v2
WD AR NITAY 2127 1KY VIRW M3 NIDT T OR IR] LAWK VWA 2RI 2 NIDT YI9ND N7 0
12 7O0T DR PROXIDW X7 ART 2"153 1"17 Nown X272 1911 "R ["1v2 2 502 1mph RIdWw 1D
272 X177 07090 JRT RITAINR MW XD M1 72w 2") amw

1" 97 PWITPA '0IN7 201 Y190 PYITR 21T 2RI FXON1 OKT 1KY 12°0 2"D PwITPa wIRYT 200 1
1019 K177 M7 11°MRT DIWR M7 PR NYTY ROV AWIPNI2 DWTIPAT RAT D R 2 A" 1A Ry

Postulating a P71 between 1°192 X5w 0787 127 as derived from mm5w - just with a "1 via
>7770 13X [and like any mim7w we say “07Rn” as well]- VERSUS conceptualizing 121 as an
independent 17 -5:7"13 in MYW [or not based on MW at all],[and therefore limited to
“p785” 1'%-will not help: "'
1] The 7" holds that mm5w aywvn " 7207 —
2 7MY TV A7 PYITR N20n 7" v 1M
MY X7 RI20M RIPOYA 102K RiTT RO NIPOY QV0R IR? 7317 PRvawn 72°77 Y27 R, ...
VIWON K21 IM73 DTR? 1PITW 1737 "R K17 27 72 772772 ROR 171371 MINPHW °12 1RY 2210p R RO
12°2W2 137 2R JVRY NIMHY PRY D"YRW KON 1M KT MW 1972 KD 77317 MMHY X1
37731 779907 12 IN? DPIVP KT RIT IPWPR XTI MDY 1R ROR 0OVAORT JIOWR KT 7707 12
7717 AR K127 (2 RY A7) W1 IR D2 100K TA RNV 17101 MITHW 212 IR? 0°10p R 1103797
ML 777 1097 A'YR IRD TUR VPR T TN 00 DX 112777 730007 700 0% 002010 72w mnow
MW >7°% "NR XY 0°2210 72 MITHW 72 ONKR 0P KO K1 RIW K7 9721 K77 13127772 177907 709 R
LLTTOOT YD PR MITRW D PRY O 9T 717 A1 Ywm) 0727 KOR JURY 72907 PRT 2"

2] The mxp does not endorse such a p1o°m.
A7 12°0 1IN0 MXP
ow 'O 2" ... (2"¥) 1" A7 '7 PID 0732 7Y L0977 "0 XY RMawm 'on 7"wd oK. ....(7
LMY (ROR"T) o0Taa

19 Could see such an idea as P77 in the W77 NN - *290R MW ayva 1 "1, While the 82w holds
that a1 is NOT m>w avon :
X/271 77 PWITR N20n Yy R"awaa w1
POTY PIA 27 D703 MR RIT 92 12 7277 KT 0D ROX (0K, T0PD DLW 1087 2R K17 MITPHW RAT XI2007 100KT K
XYM 2777 17 ATAW FOTT A1 NYAY RADRT ... 700 027 VPR 1IN RIT MITOW IR IRY 3°I17 vAwn 17192 RO DIRY
ROW OnH 1727 MITPHW 212 JPRW D"YRT ,RIW KD 11 70 22391, MITHW NN IN? 1192 ROW 12 200 1 2R Y
Rabpghlabnl

' At least with regard to the mgp or the 1".
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I.e. for the m¥p EVEN 'o1n who CLEARLY hold that mmbw ayun "7 73°°07 = 7°2v7 >770 11K
mow 2, STILL hold that we don’t say - 1192 X?w a78n 121. See [for example]:
X/X> 77 M210D N19OIN
1R 17 RI7 NIDTT 1107 MMOW DYWL M7 3231 KiIT 7220 - K17 MITT 21wn 72 NYT 2V IR 127207
O"RY MPHWR YA K21 ORIINOR T DWA 87 023 (.20 A7) 127 "D MOMTO MW 0D 70avT 3700
(:RY QW) W1 1R JMARTI VPP MDY PR XM J0PY 197 IR
A possible difference between 17°2n 2w 5¥ 12wn 010 — does not require a formal MHw
and 120 Ywn 0Mna — requires a formal M%w — even if we hold - 1°192 X5w 0781 1907 :
VP 12°0 W av ANy N
2 19Wn 0N 223 Awpn XMW RAT 70T 2" wnk B2 920 XDT Mo R"awan owa 2"wno......
31777 ORI D2°NYTY 19VAT X 2"ATA KT 12 KT NIOTT DWW INYT K92 O3TAT A SYAT 17020 YW
1T RD 02°NYTY 11°VAT 1A1IN2T 00 300 D8V 212792 10V KD 02°NYT2T PINY 71T L0107
Wian MITLW 1°V2a K27 5722 ROX MIT 2172 K21 0290Y72 77 PR 19 R1T MITT 2NN OYw1R VT aR
oo 72702 KD 92K
Le. “0>ny72” is a 17 in the 770 aspect of the overall 7w15:7 not the *1377 1PN, only the
7190 must be under the control of its owner, for >33 1P°Nn - 7°2 X1 suffices. o1 can’t
provide “n3°ny7>”, while MY can.

If the P70f X1 27 is built on 1192 X5W 121 and 9% X177 71X N2 IR ROWID 7810 QTR 7
X°71 1 —why is it rejected?
X 17°0 0°°1 7R P70 Py N2 n"w
X" PYo "% 1290 ¥R DNLIW X2 2RI IR0 RAWD WIR KT RI1°2ID 207 2272107 NN AN ..
PRTY TIVPAT DWH DRYYT 2™, DRMAWY 270 0D RDT 2P0 IRWY WK 2207 7007 NOWw AT
JI0P 027 WP OTR? MORT K"V X" AT PWITR2 NI KIT W L2137 Mor 2o K27 ON120 R
IRIAT TR AR L PV RO7ATT TIRA DIWH NIDT T2 TOW K2 2K LT Y0 917 12°0 AR vMwa R
MYV 7127 X7 990 MI07 A12 X"97 207 21w 1370 A%ON XAwD W K27 2"13 ¥ w2y 2"an02 ana
QW DRI N°27 X277 VAW NV PRWY TN IR NARAY 292 M7 010 KDY 11V WD R v
791 IR XN AR 2NOW QW 2T DYTY AXY,vI00? PUITR N7 1M v R awa n™ p'o
TWITP 19N KT 0N ,IWTPY WXV ART? IWOR KT 72 92 MIT T RY 1T 2wWn 0 W LRI
P77 AR 2127 K7 WOR 2R, 1AW 72117 72 707 Y2 ORT ARG W 0D NWIAT ' A7 M2 A AT
13 7172 MDT 7T K22 PR L1192 RHOW 1907 D2 X117 172 MIT T 00T RY 1991 12y o017 1277
5"D7D 1NN MW YOI DR ROXIT? AKX NIOT D2 11RT R 700V 2p0p wwnT 9"n 707 R72wa
1790 JWOR XY RNA9D SWIDRI DN ORMAR IR 2RI 279

Approach 3 — 27 17
2 7Y TR AT PVITR No0R X201 UTn
TR LK Y R OR DOYTY IR PRI INYITR XYW YD AR NYTY XYW SWIRPNIY 7I0P RN
TWITPR MR 2RI IXINI RAW DA 727X RIWSIDT KAV RN TR IR 77977% LA 707X ORW
77707 712 107 7I0R RIT 992 PWITR ININD AR 79T K RAT 07PN 702 RN 001, PRITRT MYPNN
XY TR Y 91 CTPRY YW 1D WYNw KT MTSW N2 IRY L 2aRY 1792 990w 70 RPIRTS
INIW 97,72 WIPNNM 2937 923 10 IR 0 ON2 WIPNNM 11999 731 10 1T PRATR TINAT 01D RN

12 The x"2v™ adds:
7721 991 R°7 7°°01 N2 2pn 9 1w Tp 2aph 70 % 1097 971 81T 080 N3 PYa 07 RTWw 110V XY 7791 102
777 9022 7797 12IRT? WAIN2 197,1°392 ROW DIRYD 7POTT ¥I9MY 12 ANT AXINN ART YA 31 7PARY 092 79110 X 0 D
....T2 79T VWA ¥I5n% DWTIPR R 070 ANXINI YR 1297 SwIpnm JnnRy
23X we see that the X"207 also seems to hold - 17192 R5w 2782 17 .
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1727 AWYW IRIT ROIT2 RWTPAT PYITR INIRD ART 7371 KDY 2707 1998 ROW D"YR DWTIPR 1D DY
A0 M3 MR RIT 0T PWITPA ART IXINIWI 001 X7 ,('2 1 2°R) P92 K12°N2T7D 0IND RIWT
2RI XA VWA 7Y 037 RTW 13972 177701, T2 WIPNM 7350 11700 891 7970 Rw °nab nnaw
NYT %Y 79 301 19RD 7200 1NIW 71,170 DY 0195 137 1737 KDY IN1 R W AWTRN ORN2 XY ORT
PR 77 PWITRA 2RI XN KD 129K W 1D DY 71901 RIOK 1Y RIIWD RNWA 23R 100 PUITR
WIPNa YT PRW 5"YRY L [7°aR] (102R) 22wa s 1way 1A 291 AI1 19 1097 0101 79900 P
92 597w 797 PN WIPRIYW WOR L2 21pn) A3 IN27 MYNT 7732 31w 2RY J0nT ARIT R0 700
....... ('22"Y M2IND) P TAN P2 RNOKRTI PRIWI 1MW %17 TR
Based on:
X 1Y T 97 -2 7MY 1 97 PWITR D207 222 117N
RP 772 ORIT 002 X7 A"V AR IR? 29V ,27 TR DWTIPA - 72 WIPKI 211797 732 0 (X2 N
JTWDI RO RTAWWA RP 7777 7RI7 O07 K27 A"UR 01 RNOR ORT,7°W01 7729wn
How does it work?
2 approaches to understanding how an 27V is 72vnWwn.
2 7Y AVP A7 XIN2 X322 No0n °222 7N
29V - X2IP RNDAOR (AKRT 201 2277 .70 N 77170 N DPIPNn - TavNWAT 29V 0K NN. ..
WY R MOMRY OWR 27 709 MR L 7WNWA RY 27V - K21 R? RNONOR ORT A7 M9, 729000
M3 - Y9 10T RPT ARIT RN SOWR 27 K XX 172v0wn 2991 K23 XY XNOMORT ,01° 922
W1 72vNwm

272 DWW PP 190

RNV I PP0D %1071 RAYY A7 W52 W, W1 TaUWn M7 IN2IN02 AwR? 27vn 2"y aw (nn)
a1 ayw 097 Mwoh w1 oxapn yb 19 109907 0w X1 IR 893 20N w7 X, PRnonoxT
?""D21 (27Y 27 0275K 730N 1Y) 1°IR 21T XD AT 709 1A°TAT ARIT ROI72T L RIP 19°I0ER X7 N
7772 309977 101D TIRIDY L2 PIA DWTIPA T2 2IR WIPNRY 211997 732 10 NRINA T AT PUITRT
N1 197K 77 199 1w 17,1279 103 190KRD M MY mvna 10IWD anaT 3T 20 1T 100RN
RN N2 AN TR 7MWA LRI XD PWITR 223,120 K21 2" M 27V 0237 0K Xnowa ,ab
17179 X"RY,PUNTP PR 2"A RDMW R0 ,KIP TR K21 RI207 R 22T ARI OX DR 2707
29V 17119 O9WY N2 00T PRITRT 170201 129K T 1197, Wi 29V PT RIT RDIR L2792 119381 792
TR OR WO Iwn 'Y L PMIPWNT 2PN 1T PYITRAT DWTRPNN RDIA T2 9D DY 1100 ROXIW
,0II92 7°9 12771 T AR IO TAVNWAT ROR XIP RIVDT X201 K ,110I192 2792 191 211997 019 0
W' Awp 19T RIR LI0IND MW IRITT RANW TINT 1720WH R°IA1 KDY 701797 1IN RO IR 2K
,ARR T TOAR WHn 27 PR RN ORY,TD OV NN ORI WIPNN 77 NRY wIpnn TOxT 0"ann
17 11VTT 12 DWITPNA AWRY NIRIT DI 112 N7 IN1NIA NOITIW AR AWIPAT 11007 IWR TN

V") 27 P X029 ¥R X201

13 e. the concept of X171 X177 ONLY obviates the problem of Xnonox it does not explain how an 27 is
72VNWN.
' 1.e. an alternative approach
15 Le. - mwo1 Tavnwm 3 - 770 10 XpT TR KT
' This is how 27 works — obviously if the 1w17p% 7 rests solely with the ax, then 27y is inapplicable in our
case. See also:
2 7MY XY 77 XY¥M K22 ND0M N1D0IN
X7 710K 27219 79UR 2R AR 19POR T2 72UK 2IRT XX ORN MRD OX - 12 77 79UR 2R 09 0101 IR IR ORI IR
M9 0 K2 19°DRT 1727 17T ROPWD 12°2wa 1927 27017 YW 72 17ARY YRR MYAT 1170 2151 DER 1TV ROR MW
11999 13 10 M0 2 PTA MY 7191 TMID RIT OIT 19nT 9"'Y 07277 91219 1M1 ARI9T 10WRT 119 N0 M01b 2000
129DRT KW JPVIAWRY 170V D1wn 77 0RIT 2" RD02 AW 197 (LT A7) PYITRT 2"'02 29 P NWTIPRT T2 YR WIPK)
.N727 73237 92p7 127X MOR IRIW? DER 17AYAWI XDO02 191 P21 232w1 172pRw 11°0 MW 1°27 PRI apn
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X"207"” MUST hold that an 27 is T2¥nwn via 837 X377 in order to apply it to our X™30.
R 7Y 177 PWIT°R N20A R"I0MT W10
X112 12 ORT IRIT W 702 OV KPT RIDM? IN? DD .TAVNWN 7077 AKRIT 0D KT A"YR IRD 27
X721 703 K7 27V 5w 17°2 337 K21 M2 ROXIW MY NRIT 7077 201 K27 A"IRT 0019 KROK L T25NWn
A3 AW RNDIT 922 ARITT ,ININKR DY 717 MOAW 779 V1T IRITA 7AVNWN 2377 12°0KR ,q00 MY
RMWT RIT RT3 WO KAIPR MY 732 NRIT 777 00 KT AR M1 RO ,ANIT 102 RIWIIDTD
DR °377 719 MKRW LRI MKW 01T PIVAYA JINRT DWTIPR 93 177D ,7MAT2 21997 10 00T A9
oo 39272 M 9% 2NN AR MK D NYTIPR

It follows:
1] The Mm% is only 82791 1857 not ¥1917. Therefore - AYWa Y2 (07 RPW 1792 1771
19 HY 2193 177 127 RDY 301 R AW AWTRA ORN2 XY OXT ART XN,
2] The fact that the daughter happens to get the 702 is only incidental not essential. It is
the fact that-1d 5¥ 1mwn 1 X°¥19Y - which counts:
2 Y 197 PYITR N0 R"AWNT W
X171 ,27 19127 2RY ... DWTIPA 77w Y90 T O DWTIPA 1R Y90 DY 010 7322 07 SWIPnT 1120 10
M OTONT L0 RITW T2 IR OMNKRI TART 2IPAT IR 29 7w 732 P17 170200 NN aveT R 7T
7NN 1D DY 2INRY 1101 07 7127 ,IRIT NN 12 T2VNWI 1D DY IMWIR 171 ROXITW 21070 ROX XAV
TR DIPAY IR D9 3P IR TN
3] oW R X2 WP won’t work — 03P nvo IS a problemlg..‘m‘: 7R 1s less clear —
possibly we could argue “91°1p 1n%5”, BUT we could argue that %2 is unlike 703 or 0w —
it creates a REALITY?" i.e. here even the X"2v> might agree that something significant
DID happen and therefore the 1w17°p is o1 —v19n? if 287 7¥707. See also:
12 1290 D°R17°1 212K
TPART RMDT D"IT DWAY YIOND DWTIPR MYNT 129811 PORT R"A0I70 D10 7IvIRT 00 AR TN, ...
TR°2 VIR "R Y1917 371 K27 RIT MMHW NIN2 ARG PWITR 9092 37 9X1 KT 71027 KOX
T1°27 PY?°M PR R°2 SWITORAT 7I0P2 A" 2RI 90 Y1917 SWITR 7VIAT 119D 77V DWTIPR Ml
TOOX PR N2 SWITPAT AR NWIPND 77 MR DY K27 92 "R 102 "N0T2 MIARY DY K17 19MKRT
R12°W TIXT RIT WY IR A0 SWITR2T IR WIPHT NN 3P ART DD RTIT 1102 ROR MW
X°3102 QW T°I97 RN YW 191 ,M2KR? DY RIT 92 NWIPNA TAXYN X2 22K ART 707 0w A007
YyRwm WY MYOR DWW oW 70PN IR7Y IRM OX K2INT K7D X7 K?Y PR WAKT OR 277 [R 0]
772 PPNR PRI IR AR WITR PIVDT RIR W'Y 770 77V 205 O AR WP vonh nwmipnT
... 7w maop

17 Who DOES hold that the w17p% 7 rests solely with the ax :
2 7Y 3 97 PYITR No0A X200 WITn
SRWIW 7N 17 0277 1170 WITD .RDOD RPPW 7K1 7317 WORY PNNI N2 DR 2007 WP 93P AR RNWT 1P
R?7 930 XY 7307 %1 ¥PRT 191,77 PIva 7200 KO 111731 027 DY) 73pn 2w PR NV XPW 312 Dya qwTpt
« M2 DY AWTPY 19 WK TR 1D ORI PPWI ROR AN PRI 02T DY RWN PR XDOI ROPW PR ORT 977 70D M
See also:

2 TIAY 1 A7 PYITR N20A RV TR
IRI72 T2vNwnT ('2 2"VP 2"2) 29V 223 3°INRTI 03 1WR 2P P32 IRITT ,IVIND MW T IR 100...

19 And, as pointed out by R. Pesach Adlerstein, it seems that these vehicles cannot access 27V 17— as no
5 5 1NN 11N ROXITW occurs.
2 Le. = nwyna no. See:
X"/ 270 70 7 70 27D NN NO0A MW’ TIRoN
xR 9ax 022 AWTPW2 RN°INK 101 RIT 2 17217 R1AW 2w 702 hiv) M1 RIT IIN AW R TX0D "D NP0 RWIW wAn
....... AWV DR PN aWYD PR 72°v23 avTPR
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1- 7°aR N2 ROW IWTPNIY TI0p

Why does the &"2v>7 not accept the 1"1°s approach by a 71vp [remember he acknowledges
721 operates by a 77v1]?

12 12°0 O°R1277 °1aR

MaT 2" N2 wRT 01 207 Fhneew] (W) MR L. PWITR MR 17792 18701 197081 [2°]

7 a0 P¥A K2 AT XNIDT 207 A"YRT X079 90 mI0p2T XX 9WH R 10 W'Y AR

FINITAY ANT 21T MR KT IR KOR MWTIPA TR 7"Wn) 299 T KOX TI0p3 Y3 K91 22911

VW2 IPDR PYITPR 73P1 ORY IR 21T T VIR PR 1D DY (03T I 1ARD DY NORT

c. 1IN Y9N SN 03 1"MWRY MIMYW NYINM

2 Le. of the X"av™ .
22 Perhaps they differ on the role of 1w Tpa mwxA ny7. The X"2v doesn’t accept:
X 70y 2 77 0771 n2on 1"
7"wm YA MWL 9REY 0°15NW 73°7 9 XY WIRD AWK PYN 03 7ORR XYY AWK WOR 1R 02 7ORKR 7INAW 1190 ROX. ..
R°77 WORT OWITPY NRO0M ROIW 11701 K2R Wi 17°7272 PR T2 NONIRD 2177 87 7R °RT (797) PUiTpT p"'s2 PR
RO TR 7Y PYVITR PIT AR PR 997 IMWI? 70°101 DY P00 DWW 0272 HYan DX Aw01 MWwnT 73X 0YT nhvan
....5van T3n

Rather postulates a more “active” role for AwRa YT .
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